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2a.

What are the rmportant apphcatrm O,t+ower electrorucs'/ oi"o, "' (05 Marks)

With a neat circuit diagram aa"${pfeforrq explain the c*oifri'd'characteristics of SCR and
BJT. #. ' M$dnb (05 Marks)

c. Explain different types of po*& electronics converter system. Draw their input and output

What are the important applicatio:rf of power electronics?

waveforms.
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Note: Answer anffiYE full questions.
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With a neat circuit ffifu* and waveforrq .*p;io the base drive control, during turn on
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c. What*i'b"the application, 4moriWand demerits o*MOSFET?
.:.:;!!:i. "':;:::a:.:: Jtt

transistor model of an SCR. Derive anode

b. A single phase fully converter bridge rectifier is fed from 230 V, 50 Hz supply the load is

highly inductive.J-M ttre average load voltage and current. If the load resistance is 10 Q
and firing angle,fi35". Draw the supply current waveform. (05 Marks)

c. With neat cirotrjt'diagram, explain the single phase dual converter. (07 Marks)
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5a.
b.

c.

6a.

b.

108C73
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Distinguish between natural commutation and forced co.mg,ffi1 06 Marks)

Eillril the method of self commutation by.necessary waveform' (07 Marks)

p*pfuin the comple*"r*V commutation iircuit' 1d*'-'Y'"" 
(07 Marks)

\:;rs=

Draw the circuit diagram and waveform, explain thd principle of oN-oFF control' Derive an

expression for rms rllue of load voltage in O^*=.fttF AC voltage controller' (12 Marks)

For the AC voltage controller shown in fig.Q,e1b, calculate the averagqpg*tl i'the lad if
the thyristor firing angle is fixed at 45" wifuUespect to supply voltage"'*Ddrrve the necessary

'd J ,"requation. "* %T,

-ff1 tA t I rsi:::,:11)
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Fie.Q."f(b). (08 Marks)

expression for ,7 a. ExPlain the
(1)

b.

8a.
b.

c.

form derive anfficiple of step-down qf$ftr with wave

output voltage. -* *t

il;#,il;6;.q16;;ffi or"utp,+tuysu&e (ii) RMSfue of tundamental component-\/d' ' (06Marks)(iii) Total harmopic distortion- s *J"s
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